Increasingly

Ordering Numbers Answer Key Pifficult

xercises

a) b) c)

2,3,5,7,8 13,14,16, .5 -2,-1,2,3
1.9, 2.4

d) e) f)
-2.9,-1.9,-0.6, 0.2,0.275,0.3, -1.7,-1.54,-1.515, -
1.4,1.7,3.1 0.34,0.365,0.4  1.5,1.58,1.62

g) h)
5 7 3 4 1 2 3 1
8’10’4’S 2’5" 10" 4
i) j)
3 1113 a 5a 11la 7a 4a
10" 5°5’4’8 2’8716 10’ 5
Inc_rea}sin Ly
Ordering Numbers Answer Key Pifficult

a) b) c)

2,3,5,7,8 13,14,16, .5 -2,-1,2,3
1.9, 2.4

d) e) f)
-2.9,-1.9,-0.6, 0.2,0.275,0.3, -1.7,-1.54,-1.515, -
1.4,1.7,3.1 0.34,0.365,0.4  1.5,1.58,1.62

g) h)
5 7 34 1 2 3 1
8’°10°4’5 2’ 5 10’ 4
i) j)
3 1113 a 5a 11a 7a 4a
10" 5’5’4’8 28716 10’ 5




